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GEOGRAPHY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. The Drift Theory of Wegener was 6. Match the List-1 with List-1l and
postulated mainly to explain select the correct answer by using
codes given below :
(A) lee Age List— I List- 11
(B) Distribution of landforms a. Endogenetic i. Exfoliation
(C) Major climatic changes force ) _
(D) Geological ~similarities  of b. Geosyncline ii. Mediterranean
coastal regions . Losea
c. Weathering iii.Laurasia
d. Continental iv. Orogenesis
2. Which of the following groups is Drift
produced by erosion ? Codes :
(A) Drumlins, Fjords, Arete A) i?i ? |C| ic\i/
(B) Eskern, Out-wash plains, Moraines (B) i v iii i
(C) Cirque, V-shaped valley, Lavees (€ v i i i
(D) Playa, Pincles, Swallow holes @) b v

7.  Match the List-l with List-1l and
select the correct answer by using

3. As per the theory of platetectonics codes given below :

Whic_h of the following is a super List — | List - I1
continent ? a. Palaenteological i. Coast lines of
(A) Eurasia (B) Africa Evidence S.  America
(C) Antarctica (D) Australia and Africa
b. Biological ii. Glossopteris
L ) _ Evidence
4. Thg dl_rectlon of a hor_lzontal line on c. Jig-saw-Fit iii. Lystrosaurs
an inclined rock strata is a Evidence fossils
(A) Dip (B) Strike d. Land Bridges iv. Marsupials
; Al Codes :
(C) Syncline (D) Anticline i b c g
(A) i i v
5. Sunda peninsula was submerged in B) iv it i [
the Pacific Ocean due to (€) i i i v
. . (D) i i iv i
(A) Constructive activities of the
plates 8.  The tectonic plates on which India

and the adjacent portion of Asia ride

(B) Destructive activities of the are colliding at a rate of

plates ] ) (A) 0.1-1 milli-metre per year
(C) Subduction of the plates into (B) 1-10 milli- metre per year
ocean (C) 0.1-1 centi- metre per year
(D) Sea floor spreading (D) 1-10 centi- metre per year
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10.

11.

12.

13.

Who propounded the theory of Rural
Settlement ?
(A) Ritter
(C) Meitzen

(B) Ratzel
(D) Schluter

Who postulated the concept of plate
tectonics ?

(A) LePichon
(C) Harry Hen

(B) W.J. Morgan
(D) Tuzo Wilson

The following Question consists of
two statements. One is labelled as
Assertion (A) and the other labelled
as (R). Examine the two statements
carefully and select the correct
answer using the codes given :

Assertion (A) There is close
relationship between
Volcanoes and plate margins.

Reason (R) : About 80 per cent of
the World’s Volcanoes are
associated with the convergent
plate boundaries.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Knick points are associated with
(A) River Rejuvination

(B) Glacial Erosion

(C) Aeolian Deposits

(D) Karst topography

When the Kaveri river as soon as it
enters Tamilnadu, which waterfall
does it create ?

(A) Hoggenakka fall

(B) Jog fall

(C) Fivefalls

(D) Paghaya Kotlam
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14.

15.

16.

17.

18.

Penisulas make up most of

(A) Italy and Denmark

(B) Poland and France

(C) Ireland and Great Britain

(D) Austria and the Czech Republic

Tornadoes are most likely to occur
during

(A) Mid-morning
(B) Mid-afternoon
(C) Noon

(D) Late evening

Which US city was struck by the
hurricane Katrina ?

(A) New York (B) Houston
(C) New Orleans (D) Miami (FL)

Considering the Assertion (A) and
Reasoning (R) select the right answer
from the codes given below :
Assertion (A) : When the Sun is
overhead on a clear sky, one

can see blue sky in all
directions.
Reason (R) : The longer

wavelengths of visible light are
scattered more effectively than
short wavelength.

Codes :

(A) Both (A) and (R) are correct
and (R) explains (A).

(B) Both (A) and (R) are correct,
but (R) does not explain (A).

(C) (A) is correct, but (R) is false.

(D) (A) is false, but (R) is true.

Ozone hole is located above the
(A) Antarctica

(B) Arctic Ocean

(C) Equatorial zone

(D) Greenland
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19.

20.

21.

A sudden, violent, gusty wind, which
lasts a minute or two and then
subsides, usually accompanied by
rain or hail, is called

(A) Thunderstorm (B) Hoar

(C) Blizzard (D) Squall

Considering the Assertion (A) and
Reasoning (R) select the right answer
from the codes given below :
Assertion (A) : The thunderstorms
of Bengal and the adjoining
Bihar, Orissa and Assam are
known as Northwesters.
Reason (R) : The squalls come
predominantly from northeast.
Codes :
(A) Both (A) and (R) are correct
and (R) explains (A).
(B) Both (A) and (R) are correct,
but (R) does not explain (A).
(C) (A)is correct, but (R) is false.
(D) (A) is false, but (R) is true.

The following question has two set of

statements. One labelled as Assertion

(A) and the other labelled as Reason

(R). Choose your answer from the

codes given.

Assertion (A) : The troposphere is
the dense lower part of the
atmosphere in which all the
weather  phenomenon  like
condensation and storms occur.

Reason (R) : In troposphere the
atmospheric temperature
decreases with altitude.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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22.

23.

24,

The following question consists of
two statements. One labelled as
Assertion (A) and the other labelled
as (R). Examine the two statements
carefully and select the correct
answer using the codes given.

Assertion (A) : Jet streams play
important role in intensifying
weather phenomena such as

cyclones, hurricanes and typhoons.

Reason (R) : There are severe storms
when jet streams interfere with
surface wind systems.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following oceans is
spreading due to plate tectonic
movement ?

(A) Atlantic Ocean (B) Pacific Ocean
(C) Indian Ocean (D) Arctic Ocean

Match List-1 with List-11 and choose the
correct answer using the codes given :

List—1 List - 11
(Ocean (Coasts)
Currents)
(@) Oyasiwo 1. Western coast
of Latin
America
(b) Peru 2. Kamchatka
Peninsula
(c) Alaska 3. British
Columbia
(d) Kurosiwo 4. Japan
Codes :
@ ) () ()
A 3 1 2 4
B) 1 2 3 4
©c 4 1 3 2
o) 2 1 3 4
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25.

26.

27.

28.

A reef separated from the main land
or inland shore by a deep lagoon is
known as

(A) Fringing Reef (B) Atoll Reef
(C) Barrier Reef (D) Patch Reef

Global change in sea level is caused by
(A) Eustatic change

(B) Isostatic change

(C) Climatic change

(D) Diastrophism

The following question has two sets

of statements, one labelled as

Assertion (A) and the other labelled

as (R). Choose your answer from the

codes given :

Assertion (A) : Western coast of
Europe (UK) and Labrador of
(North America) are in the
same latitude but Western
Coast of Europe (UK) remains
unfrozen and Labrador remains
frozen for nine months.

Reason (R) : Gulf stream (UK) is a
warm current and Labrador is a
cold current.

Codes :

(A) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is not true

about welfare geography ?

(A) It studies the question of who
gets what, where and how.

(B) It is much concerned about
spatial distribution of poverty,
resources and civic amenities.

(C) It was part of the reaction
against positivism in
geography.

(D) It seeks to change the present
economic and political set up.

Paper-111

29.

30.

31.

32.

Who of the following can be
considered as an opponent of
quantitative revolution ?

(A) Stamp (B) Chorley
(C) Haggelt (D) Hagerstrand

Identify the wrong pair :

(A) Al — Major Natural
Herbertson Regions
(B) H. Robert - Realm of
Mill Nature
(C) Peter — Locational
Hagget Analysis in
Human
Geography

(D) L.D.Stamp — Frontiersin
Geographical
Teaching

The concept
propounded by
(A) Thomas Kuhn
(B) E.Soja

(C) P.Hall

(D) Lewis Mumford

of Paradigm was

Match the following and answer
from the codes :

List—1 List - 11

a. A Hundred 1. Griffith
Years of Taylor
Geography

b. Geography I. T.W.
in the Freeman
Twentieth
Century

c. Man and . E.C. Semple
Nature

d. Influences of [1V. G.P. Marsh
Geographic
Environment

Codes :

a b c d

A | ] I | 1 . AV

|) 1 v 1 I

© v 1 I

(D) 1l I v 1l
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TeAtofad & | foree ufamiiee =t o 2
(A) 2 F&T

(B) = @

(C) . &

(D) wifeq HHHE

ffatEa i gaferd Hive iR 5T T
FHel H Te@dr ¥ FEl ST H TIT

HIT

= - | =it - 11
a. ‘TEgsezmd | fufRw IR
3T STE”
b. @mmwiEFT . Az,
c. THuweIR |l TH. I
d. ‘TUCEST A |V, ST Ay
SR
TS
S
a b c d
A 11V
@) 1 v ol
C v oo
@ 1 1 v ol

Paper-111



33.

34.

35.

36.

37.

The  concept of  sustainable
development rests on the following
principles :

(A) Intergeneration transferability
(B) Social justice

(C) Transfrontier responsibility

(D) Intergeneration transferability,
social  justice, transfrontier
responsibility

Which of the following is not a
thematic map ?

(A) Map showing  population
density.

(B) Map showing distribution of
minerals.

(C) Map showing jute producing
areas.

(D) Topographical map on 1 : 50,000.

Which one of the following pairs is
not a correct match ?

(A) Geddes — Le Play School

(B) Perry — Neighbourhood
units

(C) Howard — Garden city

(D) Le Corbusier — Satellite city

The plot of cities of developing
countries according to their size and
rank on a normal graph paper will
assume one of the following shapes.

(A) Linear (B) Concave
(C) Convex (D) Curvilinear

Settlements located at a distance
from river banks and other water
bodies are called

(A) Wet point settlements
(B) Dry point settlements
(C) Strong point settlements
(D) Nucleated settlements

Paper-111
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38.

39.

40.

Match the List-1 with List-1l and
select the correct answer using the
codes given below :

List—1 List - 11
(Value of ‘Rn’ (Pattern of
statistic) Distribution)

(@ 0.00-0.25 (i) Random
(b) 0.90-1.10 (ii) Highly

clustered
(c) 1.25-1.50 (iii) Least

dispersed
(d) 1.95-2.15 (iv) Uniform
Codes :

@ () (@© (@

(A) (iv) (i) () (i)
(B) (i) (@) (i) (iv)
€ @) @) (i) (iv)
(D) (i) (v) () (i)

Which one of the following distances
does not fit into Christaller’s scheme
of k = 3 hierarchy of central places ?

(A) 7 (B) 11
(C) 21 (D) 36

Match List-1 with List-11 and select
the correct answer from the codes :

List—1 List - 11

(@) Ranchos 1. India
(b) Favelas 2. Brazil
(c) Kavettits 3. Venezuela
(d) Bustee 4. Myanmar
Codes :

@ () (¢ (d
A 2 3 1 4
B) 3 2 4 1
c 1 2 3 4
D) 4 2 3 1
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33. URUNE fger & FayRem FEfeRad
g W emeia €
(A) WG SRR
(B) WIS ==
(C) R Hi9T STREIFe
(D) 3Fadigl TR, |
=, IR G SR
34. Tr=feted # § % @1 frifes fT @ T 2
(A) SHEET T I AT 79
(B) WSt T forawor g9m aretr #a
(C) SIE STURH X aTet &l i 9
e qq
(D) 1:50,000 T TIATHIH HT
35. T=fefed § ¥ 9 O 9 T&l Afed
T T2
(A) TS — 1 o Tet
(B) W — TSI At
(C) e=E — e fadr
(D) = sRgst - Heerse fudd
36. fosmraelict 91 % TRI H JEUS TR
TFE IR W 0 MHR TS I &
AR Hefafed § & ®F & THR
T 2
(A) @
(B) 3Tt
(C) vt
(D) =k Y&t
37. I 3R I SewE ¥ g0 W Aared
SRt T FEATdl & 2
(A) 3% o adt
(B) = foeg st
(C) vaet forg arit
(D) TRl st
S-80-13

38.

39.

40.

gEt — | g — |1 % 9 gaferd e
3R T 5T Pl ¥ W W B T
H
=i - |
(‘Rn’ wifet
1 )
(a) 0.00-0.25
(b) 0.90-1.10

(©) 1.25-1.50

= - 1
(sfet )

(i) acf=®
(i) STt Tresa
(i) T =0 foradt
T
(d 1.95-2.15 (iv) @989
S
@ () (o ()
(A) (iv) (i) () (iii)
(B) (i) (1) (i) (iv)
€ (@@ (i) (i) (iv)
(D) (i) (v) () (iii)

FEET W H k = 3 GUE HH B
foheeior whm o ffoiaa & | i
T 3k T St € 2
(A) 7
() 21

(B) 11
(D) 36

gt — | & g — 1 % | gaed s

3R A" fe =iel ¥ Wl SW H 95
H

=it - | -1
(a) F=g 1. 9Rd
(b) wTETH 2. Fele
(c) FEifecd 3. A=sgen
(d) st 4. =ER
e

@ () (¢ ()
A 2 3 1 4
B 3 2 4 1
Cc 1 2 3 4
D 4 2 3 1
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41.

42.

Given below are the two statements,
one labelled as Assertion (A) and
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion(A) : In India, large cities
are growing at a very fast rate.

Reason (R) : Inspite of the emphasis
on their planned development,
the small and medium towns
have failed to come up to
expected norms.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is correct, but (R) is false.
(D) (A) is false, but (R) is correct.

Given below are the two statements,
one labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : Annual growth rate
of population in developed
nations is much lower than in
developing nations.

Reason(R) : Economic development
results in reduction in birth
rate.

Codes :

(A) Both (A) and (R) are correct
and (R) explains (A).

(B) Both (A) and (R) are correct,
but (R) does not explain (A).

(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Paper-111
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43.

44,

Which one of the
statements is not
migration ?

following
correct about

(A) Migration varies inversely with
the distance between source
and destination.

(B) The majority of migrants move
in order to improve their
economic conditions.

(C) Governments create migration
policies to attract the talents
that they lack.

(D) Women tend to move longer
distances than men.

Match the List-1 with List-1l and
select the correct answer using the
categories below :

List—1 List - 11
(@) Post (i) Less than 28
neonatal days
mortality
age
(b) CMR age (i) Less  than
one year
(c) Neonatal (iii) 28 days -
mortality 364 days
age
(d) IMR age (iv) Less  than
five years
Codes :
@ () () ()
(A) (i) (iv) () ()
(B) (v) (i) () (i)
(€ (i) (v) () (i)
(@) (@) (i) (i) (iv)
S-80-13



41.

42.

T 37 e T T, Uh B AT
(A) 3T T H HRT (R) HT A9 fzan
T g | A Y wiel ¥ el S A
T A

AfHeA (A) ;IR H, 9 TR Fgd
AT AT EE |

FHRUT(R) :BIC U T TR &
frifsa fae w SR 53 5H %
JESTR, A ST el & W dFh
A H IEHA R E |

HE

(A) (A) ¥R (R) 3 @l € 3R (R),

(A) =l &l AT & |

(B) (A) @R (R) 3Hi Wl & W (R),
(A) i TE AR TRl |

(C) (A) T g, = (R) e ¥ |
(D) (A) e g, W (R) T € |

T g FeF U U, uw A AR

(A) 3T T H HRT (R) HT A9 g

T E | A S FE ¥ wE 3w H

T A

arfirper (A) : foslaa Tt § SHEE
Wt ek g 31 Tasmrasiier Tt
AT H T HH FAT & |

FHRUT(R)  : 3Nk o &1 aRkoms
S ST H FHI T |

S

(A) (A) @R (R) SHi Wl & 3R (R),
(A) F AT FAT € |

(B) (A) ¥R (R) 3HI Wl & W (R),
(A) Tt AT F&T FAT T |

(C) (A)TH g, == (R) e e |
(D) (A) e g " (R) T & |
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43.

44,

Ya9T % 91 § efaiaa 9 9 1 9@l

T T2

(A) VEEH, Fid q91 T =E & §g
T & 9, UiqelE 9 9 g
TEATE |

(B) ofusmier Werdr IoAT o7
forfgar & gua & ol
TR A € |

(C) TIHR I Ufqurstt 5=t o 39
U9 379G &, I SHOT B &

(AW aN— a X
o HAHA AT d-IAl % |

(D) &S S ToHT H Afgad SART §T
T T TR H A E |

g — | g - |1 % 9 gHferd e
AR e I wiE ¥ W OIW A T
EO g
=it - | =t - 1
(a) 9SSRI (j) 28 ¥ A o
i !
(b) HTH.AR,
ek}
(c) I Y
M|
(d) STETHI,
ik
HS:
@ () (© (@
(A) (i) (iv) (i) ()
(B) (iv) (i) (i) (i)
(€) (i) @(v) (1) (i)
(D) () (i) (i) (iv)
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45.

46.

47.

48.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : The distribution of
population is highly uneven in
the world.

Reason (R) : The environmental
conditions  favourable  for
human settlement differ from
place to place.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) does not explain (A)
correctly.

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Which of the following sets of
countries does not use coal as
essential energy for industries ?

(A) Poland and Switzerland
(B) Switzerland and Holland
(C) Sweden and Italy

(D) None of these

The greatest share of fisheries comes
from

(A) Deep seas

(B) Continental shelves
(C) Deep ocean trenches
(D) Fresh waters

Which one of the following major
sea ports of India does not have
natural habour ?
(A) Marmagao
(C) Cochin

(B) Mumbai
(D) Paradeep

Paper-111

49.

50.

Match List-1 with List-1l and select
the correct answer using the codes
given below :

List—1 List- 11

(Cities) (Industries)
a. Bangaluru i. Machine tool
b. Pithampur  ii. Aircraft

ii. Locomotives
and Coaches

c. Mangalore

v. Automobiles

d. Aurangabad

Codes :

a b C d
(A) Qi v iii
(B) i iv i [
(C) iv i i [
(D) iv i i iii

Match the List-1 with List-1l and
select the correct answer using the
codes given below :

List— 1 List - 11
(@) Weber (i) Crop
combination
(b) Von (i1) Agricultural
Thunen location
(c) Christaffer (iii) Central place
theory
(d) Weaver (iv) Theory  of
Industrial
location
Codes :

@ () () (@

(A) (i) (v) () (i)

(B) (iv) (i) (i) (i)

€ @) @) i) (iv)

(D) (i) (i) (v) (1)
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45,

46.

47.

48.

9 T e @ ™ € TH W

3o (A) 3R T & HROT (R) &

T fear e € 1 A" & el 9 W@

I B T HY

afirpe (A) (fova ¥ SHg@m @
faaeoT srcatyss STEAE € |

FRU(R) HFEE S&d & ol
3P aaERNT  ferfadt  uesw
e = & |

0 ol

(A) (A) ¥R (R) qHT w&él € 3R (R),
(A) T el AT F |

(B) (A)W(R)ﬁﬂég“mﬁ@),
(A)  TE AT TEl HAT |

(C) (A) T g W= (R) feam & |

(D) (A) TR (R)TAE |

fAffed ® @ e 1 BF QAR
I % o eied ST % ®W o

I ST STFNT Tel I & 2
(A) TS TE REEsRelrs
(B) TaSReIvE Ud Efeivs
(C) wite ud gt
(D) =T § HIE X

T 3SR 1 Tad §gl 9T FEl d
T Bl & 2

(A) TR IR
(B) TRRIE Set 7
(C) IR HeTarRIA w@rea
(D) T s

IR % & T 9o § § foaem
I T<TTE Fal & 2

(A) TS

(B) H=E

(C) ==

(D) UREMT
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50.

(A) i v
(B) i v
©) iv i
(D) iv i

@ (o)
(A) (i) (iv)
(B) (iv) (ii)
€ O ()
(D) (i) (iii)

=t - 1
(i) HHA I FASH
(ii) FIw sTared
(iii) =T ==
g

(MEiEIED
srafetd fagma

() (d)
(i) (i)
(iii) (i)
(iii))  (iv)
(iv) ()
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ol.

52.

53.

54,

Given below are the two statements,

one labelled as Assertion (A) and

other labelled as Reason (R). Select

your answer from the codes given

below :

Assertion (A) The pattern of
consumption of goods and

services varies from one
country to another.
Reason (R) The population

distribution varies from one
country to another.

Codes :

(A) Both (A) and (R) are correct
and (R) explains (A).

(B) Both (A) and (R) are correct,
but (R) does not explain (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

According to Lynch, the elements

which help to perceive urban

environment are

(A) Path and node

(B) Path, node and landmark

(C) Boundaries and districts

(D) Path, boundaries, districts,
nodes and landmark

Which one of the following theories
is based on the concept of economic
rent ?

(A) Agricultural land use

(B) Rank-size rule

(C) Innovation diffusion

(D) Urban land use

Green Revolution is a technological
package, consistency of

1.  High yielding variety of seeds.
2. Land Reforms.

3. Assured Irrigation facility.

4.  Use of chemical fertilizers.
Codes :

(A) 1,2and 3 are correct.

(B) 2,3 and 4 are correct.

(C) 1, 3and 4 are correct.

(D) Only 3 is correct.
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55.

56.

S7.

Match List-1 with List-1l and select
the correct answer from the codes

given below :

List—1 List - 11

(Town) (Industry)
a. Kalpakkam i. Newsprint
b. Jharia ii. Oil Refining
c. Mathura iii. Coal mining
d. Nepanagar iv. Nuclear plant
Codes :

a b C d

(A) iv i i i
(B) iv i i [
) i i i v
(D) i v i i

Given below are the two statements,
one labelled as Assertion (A) and
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion(A) : Most transportation
networks begin as branching
networks.

Reason (R) Because the first
priority of the public or private
agencies that build them is
generally to get all points
connected.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which one of the followings is not a

general purpose authority ?

(A) A District

(B) World Health Organisation
(WHO)

(C) A Department

(D) A County
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51. 3 %uF fiu MU € A 9 U
it (A) AW 5 T €, g @
FROT (R) | A= U T wiel § ¥ W@
ST 1 I BT
e (A) (Tgei 3k Farsti &
SYFNT N Yo TH 97 ¥ T 9 H
M= e € |

HROT(R)  : SHEEN foaror U *90
YW IMA AT |

HE

(A) (A) 3R (R) sHi W@l € 3R (R),
(A) T T FATE |

(B) (A) 3R (R) I Wel € Afep
(R), (A) T T & AT & |

(C) (A) W& W (R) Tod |

(D) (A) 7o € W (R) Tel |

52. foT9 % 3R S 7 et AR %
e H BHRI el X §, 9 €
(A) v Ud TS
(C) it e fefgae
(D) wa, dmw, fefgee, e wd
o e

53. fTfcaifEa O & =i @ fEgia onfas
<) ! TR YT AL & 2
(A) P g ST
(B) SIvft SRR WOTeAT
(C) 3T (TR faeror
(D) e i SuEnT

54. BRA Hid TH UhN dehdihl Uehs ¢
o e €

SISTl bl 3TTees 3uST et fohe

EEEEIR Iy

TG SATehT Hl STANT

%PW!\’!—‘

(A) 1,23R3TEE |
(B) 2,33dAN4WIE |
(C) 1,33AN4TIE |
(D) FTA3TEE |
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55.

56.

S57.

e
i
45
89,

144
by

goo0me
-m"ﬁéﬁga

O
-0
o

(A)
(B)
(C) i Qi v
() iii v i i

-z z

T o @ oW € uw @
Mo (A) 3R T & HROT (R) &
T g | A T e ¥ w6 3w
T TIT
e (A) : Tfuser URaed Heas
IMETe % w9 B el Hedsh ok ' H
TR BT & |
FHRUT(R)  : Fifh QeI a1 it
TSt St S i s €
D T wrefeRar wdt faget
STIEAT T E |
HE
(A) (A) ¥R (R) sHi @@l € 3R (R),
(A) =l &l AT 7 |
(B) (A) &R (R) T Wl & = (R),
(A) =l T& =T T E |
(C) (A)TT TR (R) ITAT |
(D) (A) T TR (R)FAT |

frefefea & @ &9 d@ 99 329
TR (SAhRI-enT) el & 2

(A) Fofem

(B) Tova w@rea |@e

(C) ferm

(D) wISel
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58. Match the List-l with List-1I
identifying the relation. Select the
correct answer from the codes given :

List—1 List - 11
a. Austric Family 1. Santhal
b. Dravidian 2. Bodo
Family Prakrit
c. Sino-Tibetan 3. Karukh
Family Oraon
d. Indo-Aryan 4. Bodo
Family
Codes :
a b C d
A 1 2 3 4
B) 1 3 4 2
Cc 1 4 3 2
D) 1 4 2 3

59. Who defined urban geography as the
study of the city as a system within a
system of cities ?

(A) H.C. Carter
(B) Michael Pacione
(C) B.J.L.Berry
(D) A.E. Smails

60. Given below are the two statements, one
labelled as Assertion (A), and the other
labelled as Reason (R). Select the correct
answer from the codes given below :
Assertion (A) : Regional development

planning solves the problem of
regional disparities created by
sectoral planning.

Reason (R) : Sectoral planning
concentrates on sectoral growth
ignoring regional balance and
regional development planning
takes care of the growth and
development of the delineated
regions.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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61.

62.

63.

64.

Who gave the theory of Rimland,
giving importance to sea powers due
to their ability to make a rim around
‘Heartland’, in the book ‘The
Geography of Peace’ ?

(A) Spykman (B) Truman
(C) Haushoffer (D) Mahan

Mackinder’s “‘Pivot Area’, which he

envisaged to be strategically very

important, was

(A) Arabiaand its surroundings

(B) Central Africa

(C) Land between Volga in the
west and eastern Siberia in the
east.

(D) The central regions of ‘new
world’ i.e. America’s.

Read both Assertion (A) and

Reasoning (R) and find the correct

answer from the codes given below :

Assertion (A) : Planning regions

generally tally with administrative

divisions.

Reason (R) : Plan execution is

convenient in uniform administrative

regions.

Codes :

(A) Both (A) and (R) are correct,
but (R) does not explain (A).

(B) Both (A) and (R) are incorrect.

(C) (A) is correct, but (R) is
incorrect.

(D) (A) is incorrect, but (R) is
correct.

Bhakra Nangal Project is a joint
venture of which one of the
following groups of States ?

(A) Punjab, Haryana and Rajasthan.
(B) Haryana, Punjab and Uttar

Pradesh.

(C) Himachal Pradesh, Uttarakhand
and Punjab.

(D) Punjab, Rajasthan and
Uttarakhand.
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58.

59.

60.

i

Te.am aReaR 4.

%P—

(A)
(B)
(©)
(D)

TR ol ST & HiaR o § T &
T & ®T § TRIF ISl i fohe
aRTiYe fomam & 2

(A) T FEI

(B) et ufgaT

(C) rstuer o

(D) Tz T

= T owm @ o™ g
W(A)ﬁ?@%ﬁw
T fe=m T E | A e

)
AP owwpNhT
NWhkrwWwOoO
WNNAO

%mwa;ﬁ Tﬁ AT bl HATYTT h{dl
T

FROT(R) d@em  fFEsHE &g
T W IUST HAT © I TSl
o W o= Hfa w1 § R
=g o Tam | & =+
gig e fap W 3 & |

e

(A) (A) 3R (R) 3l & € 3R (R),
(A) =l &l AT |

(B) (A) ¥R (R) 3Hi ¥ € = (R),
(A) =l T& =T T E |

(C) (A) T@ TR (R) ST E |

(D) (A) 3T &R (R)FAT |
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61.

62.

63.

64.

‘TSR 37 9 e s | e
TET wieal S Hewd Id gu Reeivg
1 fagT viquied far & it TS
IRl | BIeeive’ & =RI 3R R aAE
=l A Bt § 2
(A) TS
(C) ey

(B) T
(D) e

AfheY 3 5 ‘R &7 (rgae i)
F Hepoo T H R T4 ST F=a
el fgar o8 Ffataa 5 | /@ a1 2
(A) 3R 3R 3P IRT 3T HT &7
(B) HF TR

(C) ufyem # diem &1 &F Xy o

Ta Qrgaian i &
(D) 7 gHAT 3T FERH H T

HIT

e (A) 3R HROT (R) I 1 08

3R A 73 Hiel ¥ el 3 A T9=

H

Ao (A) : FEsA & FmEe
TR & % 3T%Y Bt & |

FROT(R) :9IET WA &= o
AT 1 haroad Gl gl

T
S
(A) (A) 3R (R) Tl W&l & =] (R),
(A) Tt AT TE FAT Y |
(B) (A) 3R (R) 3HI Tetd € |
(C) (A)Ter & = (R) Toid & |
(D) (A)TTod § R (R) Wel & |

T T STHT & ?

(A) USTE, FRATOM, ST

(B) Ramom, U, STRuRTT

(C) femmaet wRYl, ITRATE, USTE

(D) USTE, VST, STRIEUS
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65. The ranges of Western Ghats is
locally called as ‘Sahyadris’ in which
of the following State ?

(A) Tamil Nadu (B) Karnataka
(C) Kerala (D) Maharashtra

66. Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : One of the major
sources of irrigation in
Peninsular India is Tank
Irrigation.

Reason (R) : Most of the rivers in
Peninsular region are seasonal.

Codes :

(A) Both (A) and (R) are correct
and (R) explains (A).

(B) Both (A) and (R) are correct,
but (R) does not explain (A).

(C) (A)is correct, but (R) is false.

(D) (A) is false, but (R) is true.

67. Arrange the following events playing
a vital role in evolution of town and
country planning in India in a
sequential order of their taking place.
Use the codes given below :

I.  Appointment of Bhore
Committee.

Il.  Enactment of Sanitation Act.
I1l. Establishment of Improvement
Trusts in important towns.

IV. Formation of Town and
Country Planning Organisation

(TCPO).
Codes :
(A) LIV
(B) LI 1, 1V
C©) HL, 1,101V
(D) IV, 1,11, |
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68.

69.

70.

Which one of the following number
of million sheets representing the
world is correct ?

(A) 54 (B) 136

(C) 152 (D) 504

Match List-1 with List-1l and select
the correct answer by using the codes
given below :

List—1 List - 11
(Topo map (Contour
scale) interval in feet)
(@ million (i) 50

(b) oneinch (i) 500
(c) quarterinch (iii) 100
(d) half inch (iv) 250
Codes :

@ () (¢ ()
(A) (i) (v) (i) (i)
(B) (v) (i) (i) (i)
(€ () () (@v) (i)
(D) () (i) (iv) (i)

Match List-1 with List-1l and select
the correct answer by using the codes

given below :
List—1 List - 11
i. Planimeter (a) area measure

of a map

ii. Pantograph (b) elevation of
land surface

iii. Barometer (c) map
reduction &
enlargement

iv. Elinometer (d) air pressure

of a place

Codes :

@ () () (d)
(A) i i v [
B) i iv i i
C) i v i iii
(D) i diioivo i
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65.

66.

67.

Ut =1e Bl ATt w w=EE 9 o
‘TEITS T’ el ST & | I8 fohd g |
T STt € 2
(A) T g
(C) e

(B) FARCH
(D) #eRTE

I 3 e §F T §, U B AR
(A) 3T T A HROT (R) 1 0 {7
T € | A S PEl ¥ W S OH
T A |
FAfiremem (A) :wEfdE W | e
% T Al H § U o A ©
FHROT(R) WA &3 § A
et Hiew g € |
e
(A) (A) 3R (R) sHi W@l € 3R (R),
(A) T AR HIATE |
(B) (A) &R (R) I Wl & = (R),
(A) T AR T&T FAT & |
(C) (A) T TR (R) 3TAT |
(D) (A) @& e = (R) TAE |

TRT H TS T el WA % fae |
T FEwUl iRl 3T FA aTelt
effad getstt & 3Th ged &

3TTHIH Y § ared | A

HIST T ITANT Y ;

l. WK Qi #

1. TT=sar sTuEm & A

. Teqol &0 § guR =" &
T

V. TEA T &l i SAHTEse
(TCPO) =T T

HE

SERIRINY
®) I, 1,1, 1V
©) L1 LIV
D) IV, 1, 11, 1
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68.

69.

70.

faver & FeUd wE arel Hieras sied
&l frfafaa & 5 9 &9 91 9@l ¢ 2

(A) 54 (B) 136
(C) 152 (D) 504

gAl-1 B gA-11 % qrg GAfera w3
T T2 el ¥ el S H a9 A

= - | =t - 1
CElEanen (T Yt
EIEIREREIC)) T FE H)
(a) Tafer= (i) 50
(b) TH = (ii) 500
(c) wwEmEE T (iii) 100
(d) ¥R = (iv) 250
S
(@ () (¢ ()
(A) (i) (iv) (i) ()
(B) (iv) (i) (i) (iii)
(€ (i) () (iv) (iii)
() (@) (i) (iv) (i)

Tt — | & g — || % 9 gated
3R A 2 el T el S A T A

= - | = -
i, ©FMERT (a) AERET
HY

(b) 9 HT& =1
eI

(c) wmre =it

T Ta [oaR
(d) T 1 g S

ii. TR

iii. ST

(A) Qi i v [
B) i iv i i
C) i v i i
D) i i v i
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71.

72.

The Air Photo Scale of a flat terrain
depends upon

1.  Height of the aircraft.
2. Focal length of aerial camera

Choose the correct answer code
given below :

Codes :

(A) 1listrue, but 2 is false.
(B) 2istrue, but1is false
(C) Both1and 2 are true.

(D) Both 1 and 2 are false.

Consider the following statements
and choose the correct answer from
the codes given :

(@) The contours which represent a
convex slope are close together
at the foot and are
comparatively farther apart at
the top.

(b) The closeness of contours
indicate steepness of slope.

Codes :

(A) Only (a) is correct.

(B) Only (b) is correct.

(C) Both (a) and (b) are correct.

(D) Neither (a) nor (b) are correct.

73.

74.

75.

Arrange the following maps in
decreasing order of scale and select
the correct answer from the codes
given below :

(i) Atlas map

(i) Cadastral map
(iti) Topographical map
(iv) Wall maps
Codes :

(A) (i), (iii), (iv), (i)
(B) (1), (iv), (iii), (i)
(©) (@), (i), (i), (iv)
(D) (iv), (iii), (i), (i)

Analysis of variance (f-ratio test) can
only be applied to data measured on

(A) Interval scale
(B) Ratio scale
(C) Ordinal scale
(D) Nominal scale

Consider the following statements
and choose the correct answer from
the codes given :

(@ In a dot map, the value of the
dots generally varies.

(b) A dot map is usually used to
show areal distribution of a
phenomena such as rainfall,
agricultural production,
population, etc.

Codes :

(A) Only (a) is correct.

(B) Only (b) is correct.

(C) Both (a) and (b) are correct.
(D) Neither (a) nor (b) are correct.
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71.

72.

U UM H TR R UEET
feferfiad w T s e

1. BeE SES & e

2. AT B hS I TS

A 2 IS W W IR H FIH
HS:

(A) 19T ¢ W2 T T |
(B) 2V L AT |
(C) 1aR2IAMTAE |

(D) 13iX23A s € |

ffafEad oA & 98 R A
FHiel T Wl ST H TIT HY

(8) 3I=HRT FAM Uk HLH ATl
THrEs e (@ uia) ik e
W FH B § IR RRER W
TS ©F H B 5T Bl ¢ |

(b) FHET TETET H GHIIA g W

o M (2
SHAAAUIAT A ddl % |

(A) o (a) FETE |
(B) et (b) W& T |
(C) (a) ¥R (b) I W& |
(D) (a) 3T T (b) W & |

74.

75.

(i) weer™ A
(i) T AT
(iii)
(iv)
HE
(A) (i), (iii), (iv), (i)
(B) (i), (iv), (iii), (ii)
(C) (), (i), (iii), (iv)
(D) (iv), (i), (ii), (i)

o o
I NIFAGEARIRICE

feamer At

TEROT T fORCIOT (f-SFUTT ORI
FIA THRad W AY 82 W UgeR
fepam ST Fepe € 2

(A) 3T T
(B)  3FuTe SmT
(C) Hugash JgmMT
(D) tHes YT

frfafad ot W R Y R A
53 el ¥ Tt 3T BT =7 Y
(a) fog wHred o, fogel =1 o3

AT IRafad g g |

(b)y o5 wFEfET H  FEFEAA
3, SHEE, TS 1 aEg

foro e & for g suEm fen
A@E |

(A) ot (a) T E |
(B) et (b) W T |
(C) (a) 3 (b) I T T |
(D) Fdr(a) el (b) W& |
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